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QUESTION 1

Refer to the exhibit. 

Which two migration methods can an administrator use to move virtual machines from the SA-Dev cluster to the SA-
Compute cluster? (Choose two.) 

A. Cold migration of compute resource only 

B. Cold migration of storage only 

C. Hot migration of compute resource and storage resource 

D. Hot migration of compute resource only 

E. Cold migration of compute resource and storage resource 

Correct Answer: CE 

 

 

QUESTION 2

What is the foundation of a software-defined data center (SDDC)? (Choose the best answer.) 

A. vRealize Operations Manager 

B. vSphere 

C. vSAN 

D. NSX 

Correct Answer: B 
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Reference: https://www.vmware.com/solutions/software-defined-datacenter.html#:~:text=as%2050%
20percent.-,vSphere,point%20for%20building%20your%20SDDC 

 

QUESTION 3

Which action is supported over a VMkernel vMotion TCP/IP stack? (Choose the best answer.) 

A. Hot migrations 

B. Fault tolerance protection 

C. Virtual machine cloning 

D. Snapshot creation 

Correct Answer: B 

 

 

QUESTION 4

In a vSphere High Availability (vSphere HA) cluster, which action does vSphere HA take when the VM Monitoring
service does NOT receive heartbeats from a virtual machine (VM) in the cluster? (Choose the best answer.) 

A. The VM is restarted on a different host in the cluster. 

B. The VM is suspended on the same host in the cluster. 

C. The VM is migrated to a different host in the cluster. 

D. The VM is restarted on the same host in the cluster. 

Correct Answer: A 

 

 

QUESTION 5

An administrator wants to configure vCenter Server High Availability so that each node is located in a different data
center. 

Which requirement must be met? (Choose the best answer.) 

A. Each node must be configured with at least three network adapters. 

B. Network latency between the nodes must be less than 10 milliseconds. 

C. All nodes must be located on a vSAN datastore in each data center. 

D. A vCenter Server license must be assigned to each node. 
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Correct Answer: B 
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